Bid #PNC2116193C1 - NRWWTP Reclaimed Water Plant Expansion

Start Date Feb 14, 2018 8:37:59 AM EST Awarded Date Not Yet Awarded

PNC2116193C101-01 Base Bid: Mobilization / Demobilization									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$500,000.00	1 / lump sum	\$500,000.00	Υ	Y				
		Supplier Product Code: Supplier Notes:							
Kirlin Florida, LLC [Ad]	First Offer - \$1,600,000.00	1 / lump sum	\$1,600,000.00	Υ	Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-02 Base Bid: Performance and Payment Guarantee and Insurance									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$1,500,000.00	1 / lump sum	\$1,500,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Kirlin Florida, LLC [Ad]	First Offer - \$1,600,000.00	1 / lump sum	\$1,600,000.00	Υ	Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-03 Base Bid: All Work Associated with the Site Civil Improvements									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Kirlin Florida, LLC [Ad]	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Poole & Kent Company of Florida	First Offer - \$1,750,000.00	1 / lump sum	\$1,750,000.00		Υ				
		Supplier Product Code: Supplier Notes:							

PNC2116193C101-04 Base Bid: All Work Associated with area Landscaping Improvements									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Kirlin Florida, LLC [Ad]	First Offer - \$280,000.00	1 / lump sum	\$280,000.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-05 Base Bid: All Work Associated with the Yard Piping Improvements									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Kirlin Florida, LLC [Ad]	First Offer - \$1,500,000.00	1 / lump sum	\$1,500,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Poole & Kent Company of Florida	First Offer - \$3,500,000.00	1 / lump sum	\$3,500,000.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-06 Base Bid: All Work Associated with Site Electrical Improvements								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Kirlin Florida, LLC [Ad]	First Offer - \$2,239,000.00	1 / lump sum	\$2,239,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Poole & Kent Company of Florida	First Offer - \$3,000,000.00	1 / lump sum	\$3,000,000.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PNC2116193C101-07 Base Bid: All Work Associated with the New Electrical Distribution Building No. 2.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Kirlin Florida, LLC [Ad]	First Offer - \$20,513,360.00	1 / lump sum	\$20,513,360.00		Υ				
		Supplier Product Code: Supplier Notes:							
Poole & Kent Company of Florida	First Offer - \$24,980,500.00	1 / lump sum	\$24,980,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:						

PNC2116193C101-08 Base Bid: All Work Associated with the New Fuel Storage Tank									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Kirlin Florida, LLC [Ad]	First Offer - \$515,000.00	1 / lump sum	\$515,000.00		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-09 Base Bid: All Work Associated with the Improvements to the Filter Feed Pump Station									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Kirlin Florida, LLC [Ad]	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Poole & Kent Company of Florida	First Offer - \$2,300,000.00	1 / lump sum	\$2,300,000.00		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-10 Base Bid: All Work Associated with the New Air Compressor Structure									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$200,000.00	1 / lump sum	\$200,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Kirlin Florida, LLC [Ad]	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PNC2116193C101-11 Base Bid: All Work Associated with the Improvements to the Distribution Pump Station Build									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$3,700,000.00	1 / lump sum	\$3,700,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

Kirdin Florido II C 14 da		First Offer - \$13,743,299.00	1 / lump sum	\$13.743.299.00	, ag	γ
Kirlin Florida, LLC [Ad]	-	1 1131 31131 \$10,740,233.00	17 lump sum	Ψ10,740,200.00		'
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

PNC2116193C101-12 Base Bid: All Work Associated with the New Chemical Area								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Kirlin Florida, LLC [Ad]	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Poole & Kent Company of Florida	First Offer - \$1,600,000.00	1 / lump sum	\$1,600,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PNC2116193C101-13 Base Bid: All Work Associated with the Improvements to the Existing Reclaimed Water Filter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Kirlin Florida, LLC [Ad]	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Poole & Kent Company of Florida	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

PNC2116193C101-14 Base Bid: All Work Associated with the New Reclaimed Water Filters.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Poole & Kent Company of Florida	First Offer - \$6,000,000.00	1 / lump sum	\$6,000,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$7,050,000.00	1 / lump sum	\$7,050,000.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PNC2116193C101-15 Base Bid: All	Work Associated with the	New Chlorine Cont	act Tank.			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Kirlin Florida, LLC [Ad]	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Poole & Kent Company of Florida	First Offer - \$2,000,000.00	1 / lump sum	\$2,000,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PNC2116193C101-16 Base Bid: All Work Associated with the New Surge Tank.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Poole & Kent Company of Florida	First Offer - \$200,000.00	1 / lump sum	\$200,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PNC2116193C101-17 Base Bid: For Removal/Replacement of Abandoned Underground Utilities							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Poole & Kent Company of Florida First Offer - \$20	0.00 3000 / foot	\$60,000.00	Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:	
Kirlin Florida, LLC [Ad] First Offer - \$105	5.00 3000 / foot	\$315,000.00	Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:	

PNC2116193C101-18 Base Bid: For Over excavation of Unsuitable Material and Backfill									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Poole & Kent Company of Florida	First Offer - \$30.00	5000 / cubic yard	\$150,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Kirlin Florida, LLC [Ad]	First Offer - \$35.00	5000 / cubic yard	\$175,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2116193C101-19 Base Bid: For Replacement of Underground Utilities up to 4 Inches								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Poole & Kent Company of Florida	First Offer - \$15.00	2000 / foot	\$30,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$45.00	2000 / foot	\$90,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2116193C101-20 Base Bid: For Replacement of Underground Utilities from 6 to 12 Inches								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Poole & Kent Company of Florida	First Offer - \$100.00	500 / foot	\$50,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$125.00	500 / foot	\$62,500.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2116193C101-21 Base Bid: For Replacement of Underground Utilities from 14 to 24 Inches								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Poole & Kent Company of Florida	First Offer - \$150.00	250 / foot	\$37,500.00		Υ			
		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$375.00	250 / foot	\$93,750.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2116193C101-22 Base Bid: All Wo	ork Associated with	the Removal of Asb	estos Containing Ma	iterial	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Poole & Kent Company of Florida	First Offer - \$50.00	1000 / cubic yard	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Kirlin Florida, LLC [Ad]	First Offer - \$50.00	1000 / cubic yard	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116193C101-23 Base Bid: All Wo	rk Associated with	the Removal and Di	sposal of Lead Base	d Paint M	aterials
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Poole & Kent Company of Florida	First Offer - \$20.00	250 / cubic yard	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Kirlin Florida, LLC [Ad]	First Offer - \$100.00	250 / cubic yard	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116193C101-24 Base Bid: All V FPL	ork Associated with Ne	w FPL Andrews Sub	-Station Feed from	FPL HVA	\-1 to
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kirlin Florida, LLC [Ad]	First Offer - \$392,000.00	1 / lump sum	\$392,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Poole & Kent Company of Florida	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PNC2116193C101- 25 Base Bid: All V FPL	Vork Associated with Nev	w FPL Crystal Sub-	Station Feed from F	PL SRAM	166 to
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kirlin Florida, LLC [Ad]	First Offer - \$218,000.00	1 / lump sum	\$218,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Poole & Kent Company of Florida	First Offer - \$230,000.00	1 / lump sum	\$230,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PNC2116193C102-01 Optional Items:	Tier 4 Generator Syst	em Extended Warra	nty			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Poole & Kent Company of Florida	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Kirlin Florida, LLC [Ad]	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2116193C102-02 Optional Items	: New Site Landscaping	System			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kirlin Florida, LLC [Ad]	First Offer - \$235,000.00	1 / lump sum	\$235,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Poole & Kent Company of Florida	First Offer - \$595,000.00	1 / lump sum	\$595,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PNC2116193C102-03 Optional Items:	New Site Landscaping	Irrigation System:			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kirlin Florida, LLC [Ad]	First Offer - \$66,000.00	1 / lump sum	\$66,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

Poole & Kent Company of Florida First Offer - \$112,000.00		1 / lump sum	n \$1	12,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Supplier Tota	ıls					
f Poole & Ke	ent Company of Florida		\$	53,500,000.00	(28/28 items	;)
Bid Contact	Wendy Campbell wendyc@pkflorida.com Ph 305-325-1930 Fax 305-324-0522			1781 N.W. North Miami, FL 33125		
Supplier Code	VS0000013976					
Bid Bond	(Status: Authorized on I	Mar 21, 2018)				
Agency Note	s:		Supplier	Notes:		Head Attch:
Bid Allowance						\$2,125,000
f Kirlin Florid	da, LLC [Ad]			\$54,347,909.0	0 (28/28 ite	ms)
Bid Contact	Anthony Fritz mtabela@jjkllc.com Ph 954-739-8100 Fax 954-739-3971		,	3125 W Comme 200 Ft. Lauderdale, F		ite
Supplier Code	VS0000005157					
Bid Bond	(Status: Authorized on I	Mar 21, 2018)				
Bid Notes	Addendum 1, 2 and 3 ac	knowledged				
Agency Note	s:		Supplier Addendum	Notes: 1, 2 and 3 acknow	vledged	Hea Atto
Bid Allowance						\$2,125,000